Part 1 Solve the following 6 Problems
1. (4- Points) The region enclosed between the curve v=sinx and the x- axis, for

0<x <, istevolved about the y—axis. Find the volume of the solid generated.
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2. (5- Points) Evaluate 'C X' +4x+20
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3. (5- Points) Find the area of the surface generated by revolving the parametric
curve x=cos’t, y=sin’¢, 087 < % about the x ~axis.
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4. (5- Points) Evaluate Ie—3x sin2x dx. = I \
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5. (5- Points) Evaluate Cor) % dx. >
. I=5 [tan0 Jd6
Pt 1:.9?;.5;m9=-3 ---27 2 5
di= 2 (sl d0 = -5 KSQL g -—\)d
(= 3 2
C
—_ ) &Simtﬁ ..25.00596{9 :% [f‘mg_gij +
("l Caszg)-s/‘:.'. -5 [_5_%__ — Sim %]'f’ C
= 40 S;m(f;l-sf? oA & — §x __25—_,5;,“ =+
27 g Cos @ ) qml
x4+ 5x+82 T
6. {5-Points) Evaluate I(i+1)(§c’+16) dx. = ,L 541 ,{- f X dx
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Part I Solve 3 Problems only from the following 4 problems.
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B. (5- Points) Use the substitution u=tan% to evaluate [—— = 1

sin x(1+cos x) )




C. (i) (2.5- Points) Given smhx—% Find the value of sinh2x [Wnte your answer in

simplest form]
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(ii) {2.5- Points) Evaluate _E tanh x dx. [Write your answer in simgplest form]
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